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1. BRBELITREASL: RTU-R10022!)—X EARME -3 — (K INRERAT
2. HEDTELE: 8 5 N —X : RHB-E600A-1P (2{@&) $ L T'RHB-E600A-W (118&)
3. HERFETT
(1) BRI
D28 E & M (ke) (K] M=| 194 |kg
QKBTS W (kN) (E/KEF) W=M x 9.80665/1000=| 1.90 |kN
QT 2R DHEZEDIE: L (cm) L=| 474 |cm
@BETTHHROBEREDIE: Lg(cm) Le=| 202 |cm
GOHBOEDLES hgl(cm) he=| 1025 |[cm
(2) B S &R
OEBE = M (kg) Me=| 287 |ke
QEMEEE :W:(kN) Wr=M; X 9.80665/1000=| 2.81 |kN
QBT HIHRADEBERS L-(cm) Le=| 600 |cm
@EBESE he(cm) he=[ 220 |[cm
G BIERIATIEAEDI ANOEBITEAETORS Lx=[ 79 |cm
4. THEEE
(D EFTRKEEE Ky Ky=| 04
(2)EFtRMEEE K, Ky=1/2xK,=| 02

MERMARZA-a8 1 TEHLHTEMND
(B)RFFE—AUF:A(KN-cm)
A= (1-Ky)* ((Le+ L)W+ (Le/2)*¥We) =[ 1103 JkN+om

(4) 851 E—A2 bk :B(kN-cm)

B=Ky*((hg+hg)*W=+ (he/2)*Wp) =[ 1071 |kN-cm

XLI=M>T. J. A>B
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